1
6. cotf + ) sin?(40) + C

2
7 —-—1
V3
8. 2 (1 L )
C2n(1-—=
V5
9. 94
10. 6
11. 7
2810
12. ¢ (2) = ——
g(@) V1416214
, (14 cot™ r)(—csc?r)
13. f'(r) =

cos(cot r)

, , 6cos?y +3cosy — 1 6siny + 3siny — 1
14. h'(y) = —siny 5 — cosy 5 ,
tan®(cosy + 1) — sec(cosy) tan®(siny + 1) — sec(siny)

4
15. F(z) = —sinx+2tanm+%+x+6’

2
16. G(t) =, + ?t7 —sect + 4t + 100
1 4 1 3
17. h(:c):ﬁx +37 +cosw +2x — 4

18. Use the fact that —1 < cosz < 1 and the fact that if f(z) < g(z) on [a,b], then

/abf(w) da:s/abgm dz



2 3
19. Use the fact that \/7_ <cosz < g on the interval [%, %} and the above inequality

for integrals.

166
20. 23— -2
0. =355
3381

21,z = 2o
37 5369

8 98
22. The displacement is 3 and the distance is 3

12
23. —5
6
24. 9
2
25. 47
26 !
"3
64
27. —
3
2
28. —O
3
167
29. —
15
207
30. —
7
T
31. —
30
39, 9927
15
167
33. —
15



34.

35.

36

37

38

39

40.

41.

42.

T
6

31
30

. The number is 1 and sum of it and its reciprocal is 2.

. He needs to buy 40+/30 feet of fencing to minimize cost.

. The point on the line closest to (—3,1) is (

15
. The dimensions to make the largest possible volume is 20 em x 5 m x 20 cm .

5 3
7T

)



